EARAROBEEIERT — 2 N— IBISH —F

20145F9A23H (X) 10m55#3H

:j-;“//(— &L s —EHARER CO HSRH—i (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S H X 4 4 | ALE— 1:31.4 4-3-4-3 |38.5| — 4 429 | /NERBEER (55HR)
1 > FAKESAE 54.0 ) 3) B) K247
L:T7ReA YT vy B:7UFca021I0 =E Rl
olgl7|vvxr9359 4 ﬁ%ﬁm (11:311/.27) 5-5-5-4 | 38.8| — 1 394 gg{g :(ﬁffz‘)
LT RRA N L— B TIN— YT O | h i HTr—i
4 8 | BlaFH 1:31.7 2-2-2-2 | 39.1| — 2 424 | INRBSER (S54R)
sBl 6| TTRAVAT 1L 54.0 (NF) 46) (B) 3 KAT15 K
ZRFAd-E B:veArU)— pailz:bve ]
3 o5 | WTHZ 1:31.9 1-1-1-1 | 39.4| — 3 424 | DNEE=AR (5H2)
415|5 7RI 252.0 (3/4) 0 HHEE—
R:Z9xT b A—T7—FKR-—F B:O4J—-bruiany AR —th
N H o7 | ARES 1:32.0 3-4-3-4 [39.3| — 5 465 | WEIER (5£42)
5/8|8 FT1V)RZX ‘ . 56.0 (1/2) (+4) | LB
R:7 R4 YKRX B:47)Av>X TREEHUS
CW S i 4 | AEHIE 1:32.4 8-7-7-6 |39.1| — 8 429 | BEEHER (512)
6l1l11|FTLzr>8> 54.0 @ © | () J PN
R:HYISTLIFL N B:FLTEIY BETT— L
410 | BEXCS 1:32.6 7-8-8-8 |39.2| — 6 422 | BEEIEA (554)
]3 Fau bhxxFx A51.0 " 42 | ) SERTATE
R:TT9U8%FY—F BYILIILI—~NTZ R 1
o= < 45 f o4 | BlER 1:33.0 6-6-6-6 |39.9| — 7 406 | EEER (ER)
8/8|9 YITIAXF14Y 54.0 @) 4 | B /71'\—1’;7
L€ /IR BixvyFIL—X 7BK  BARB
) S o4 | BBEZ 1:35.0 9-9-9-9 |41.2| — 9 478 | NERBEER (55HR)
ol 4 | AEV Y MY LTA 56.0 (21 4) “7) () K257
Y- B:T7YaT— alL BA
® I—F—@EBIERL
13—7F— 5,6,8,2,7,9,3,1,4
Ao=5"= 5,6,2,8,7,9,1,3,4
T =35r= 5,6,8,2,7,9,1,3,4
40—F— 5,6,2,(7,8),(1,9),3,4
[ RN
B 2 770 794K 2-7 240M % E 2-7 590 &R 2-6-7 590M
# B 2 1004 2-6 240 B E 2-7 550 EE 2-7-6 3,670
7 110 6-7 140H B H 2-7 1,230/
6 140/

ABICOVWTRDTEEERROODE. TR LIV,




